
Year 8 Maths Challenge 

 

There was a general in charge of an army.  When he 

asked them to get into groups of 2, there was one  

soldier left over.  When he asked them to get into 

groups of 3 there was one left over again.  He asked 

them to group in 4’s, 5’s, 6’s, 7’s, 8’s, 9’s and 10’s, and 

each time the same thing happened - there was always 

one left over!  BUT, when he asked them to get into 

groups of 11, they managed to do it exactly! 

How many soldiers were in the general’s army? 


